MathCAD Solution to Example 2.7

Vin = 5 cos (3000t + n/2) V

m
1._
Vig = 5¢ 2 Viy = 5i Vin| =5 arg(Vin) = 90deg
® = 3000 Ry := 1000 R, := 3000 L:=05 C:=0210°
71 =ioL Vi !
L =10 C =
1rm-C
7L = 1.5ix 10° Zc = -1.667ix 10°
Ry+71)Zc
Zoq =Ry + ( ) |Zeg| = 2512 10°

(R2 + ZL) +7Zc

Zeq = 1.923 10° — 1.615ix 10° arg(Zeq) = —40.03 deg

Vin -3 . -3
I = —2 I = —1.28x 10> + 1.524ix 10
| = 1.991x 107> arg(11) = 130.03deg
Ry + 71, _ _
[ = ( ) [=-2.085% 10 ° +7.683ix 10 *

(R2+ZL)+ZC. ! 3
[ =2.222x 1077 arg(l) = 159.775deg

arg(l) = 2.789

I(t) = 2.2 cos (3000t + 2.789) mA



